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367 KT # 3 RIS 85  13.200 12.300 12.166 13.566 12.866 12.133 76.231
368 L #HE 2 BIIASFY 8% 12.266 12.033 11.066 12.700 10.566 11.300 69.931
61 m)Il BRI 3 RIUEARE iz 10.933 9.700 10.566 11.866 10.633 10.366 64.064
62 #E =M 3 RIUEARE Lz 12.133 11.800 12.700 14.600 12.566 11.800 75.599
63 #HE BEX 3 RIUEARE iz 11.966 11.600 12.066 13.600 12.133 11.800 73.165
38 64 £H & 3 RIIENRE Lz 13.633 13.400 13.066 13.533 12.600 12.300 78.532
F—LFR(Ef345) 37.732 36.800 37.832 41.733 37.299 35.900 227.296
67 %H &% 3 WsTHiIEE iLi#z 12.000 11.500 12.866 13.700 12.466 12.766 75.298
68 %M 1 RIEARRE Lz 12.800 9.300 11.033 13.000 10.900 9.733 66.766
455 BK FE 1 =5 = 9.833 1.600 3.233 10.100 2.300 0.400 27.466
452 Hp Ktb 2 EHFE = 8.866 1.400 2.266 9.433 2.833| 0.266 25.064
453 HiF REX 2 BHE = 8.800 2500 7.700 9.866 3.600 0.900 33.366
39 454 HhEH EC 2 EHFE = 2.866 2.200 3.333) 8.300 3.200 0.166 20.065
F—Lfem(EfI3%E) 27.499 6.300 14.266 29.399 9.633 1.566 88.663
457 &Y & 1 =BTE =g 10.166 7.100 6.266 10.433 8.133 1.266 43.364
458 fmlL EhE 2 BEFE = 8.533 0.800 1.866/ 9.566 2.400 0.466 23.631
131+ E F 3 BiEKRER WA 12.633 8.800 13.833 12.933 11.766 12.600 72.565
132 %R RE 2 BFEKER W®  13.200 11.400 11.966 13.700 12.566 12.366 75.198
133 544 f2KER 2 BiEKRER WR  12.066 10.433 13.066 14.000 12.833 11.766 74.164
40 134 E%F RE} 2 BiEKRER WR  13.166 9.533 12.166 13.700 11.333 9.233 69.131
F—LAfem(EfI3%5H) 38.999 31.366 39.065 41.400 37.165 36.732 224.727
137 #iE Fff BEKF WA 13.666 11.266 12.600 13.500 11.966 13.400 76.398
138 1R1& KA BEKF WR  13.200 12.200 14.400 13.066 12.733 10.600 76.199
461 )iy K& 3 WALHKEE ERS 13.133 11.000 12.300 14.800 10.366 11.033 72.632
462 Bim BE 3 WALHKERE ERS 12.266 12.600 11.000 12.566 11.833 11.533 71.798
463 |LE FEZHH 1 WL HKEE ERE 12.000 12.500 11.500 13.200 11.600 11.333 72.133
41 464 Lk BE 1 WL HKEE ERS 13.100 9.566 11.433 12.833 11.433 11.633 69.998
F—LfSm(EfI3%5D) 38.499 36.100 35.233 40.833 34.866 34.499 220.030
467 3L 3RIA 3 WILHKERE ERS 12.166 9.400 10.933 13.566 11.166 11.166 68.397
468 fRIR = 1 WL HKER EERS 11.533 10.033 10.933 12.400 10.566 11.133 66.598
261 FH EX 3 &M m#  14.133 13.800 13.500 13.533 13.933 12.300 81.199
262 =i AKX 3 &M mE  12.000 11.233 12.633 12.766 13.200 12.500 74.332
263 # Lt = 3 &M m#  13.500 11.266 12.933 14.166 13.666 12.800 78.331
42 264 & EF 2 &M m#  12.633 12.500 12.100 12.600 12.933 12.266 75.032
F—Lfgm(EfI3%5D) 40.266 37.566 39.066 40.465 40.799 37.600 235.762
267 L&k EH 2 &M mE  12.766 13.900 11.200 12.766 11.533 11.666 73.831
268 E8 EXER 3 &M mE#  12.166 12.633 11.600 13.733 11.066 12.300 73.498
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